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COMMERCE

(Honours Generic)

Answer the Questions from any one Option.

OPTION-A
Paper : COM-HG-3016
(Business Statistics )

OPTION-B
Paper : COM-HG-3026
( Operations Research in Business)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in En‘glish or in Assamese.
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OPTION-A
Paper : COM-HG-3016
(Business Statistics)

Answer Questzon Nos. 1, 2, 3 and any four

« from the rest.
1,23 7 2peg GaF [ SF AP AR A
Rzt sifIorT &3 fsil
1. (A) " Select the correct answer : 1x4=4
u% Teg [Kion 31 8 |

i) The empirical relationship between
mean, median and mode is

g, TG WIF T A Wﬁw
- AEE T ¢
(@) Mean—-Mode =3 (Mean - Median)
T — ILF = 3 (N - TGG)
(b) Mean - Median = 3 (Mean -Mode)
e — FGA = 3 (NG — ITTF)

" (). Mode - Mean = 3 (Mean -Median) |

ITF — G = 3 (TN — NG
(d) None of the above
@9[gq dB18 T2
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.

@

(iti)

Standard Deviation (S.D.) is
independent on the change of

mﬁﬁasﬁwrﬁmﬁa@wv«rﬁ@ﬁa
T2

(a) origin
Ll

(b) scale
ffe

(c) origin and scale
TRy, s R
(d) None of the above
8o OIS T
Which of the following is a unitless
measure ?
©F (IOl Ao mﬁi’lﬂ Ast 2
(a) Median
g
(b) Standard Deviation
e Reew

(c) Mean Deviation

1% o=

(d) Coefficient of Variation

Reed @eiss
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(w) Salient features responmble for

" seasonal variation are (iii) If A and B are two independent

events, then P(A/ B) =

ARG wiimer W WA 35 WRREE _
2R I A 9F B @‘r Jog 5o W, (S8
(@) weather _ | P(A/B) = =
‘ (b) social custom (C) .Write True or False : o 1x3=3
* ' | AN N | g (@ ST Bl g
 (¢) festival - | (i) Mean of the binomial distribution
B . is less than variance. '
(d) Al of the above S e A% WY PRISLT T T |
<o OB R/ | | |
A | (ii) Coefficient of Standard Deviation
(B) Fill in the blanks © 1x3=3
R B 47 8 o is .

(i) The coefficient of correlation lieg

i s . .
between -1 an el Roew @dics 2o1 2.
TITIT QT -1 A I TS '

' g (iii) Normal distribution-is a

(i) Variance is denoted by . N continuous distribution.

R R PP %4 T Ry wRifezm 354 |

4 (Sem-3/CBCS) BST/ORBHG 1/2/6 4 : o
| 4 (Sem-3/CBCS) BST/ORBHG 1/2/G - 5 o Contd.




Answer the following questions :

2x5=10

(@)

(b)

(d)

Wtite two properties of regression
coefficients.

AT QAN 757 4 ol

Distinguish - between Parameter and

~ Statistic.

o5t i elferfers e oA1efy ﬁﬂ%ﬂm

Find E (X) for the following probability
distribution of X :

X?W‘W@?WWE(X)?W
S w3
X :0 1 2 3
P(X=x) : Y3 Y2 1/24 18

State the Factor Reversal Test (FRT) of
Index number.

WW@W&%@NWWWI

Three éoins are tossed. Write down the
Sample space.

%ﬁmqmﬁWﬂmi’alﬁWﬂmﬁw
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(b)

(g

(@)
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3. ' Answer any four of the following questions :

S5x4=20

o el SIS e Gad Bl ¢

(a) Write

down any five essential
characteristics of an ideal questionnaire.

mwmﬁ@mmwm
o

The regression lines have the équations
3x+2y=6 and 7x+5y=12- Find X
and . 7.

TOIe A (T TP T 3x+ 2y =6
W€ 7x+5y=12. X W& 7 W@

Describe the procedures' of testing a
hypothesis.

o PR swfoumR TEe = |

What do you mean by a “scatter
diagram™? How can the correlation
between two variables be studled mth
the help of this diagram?

aﬁﬁfﬁ”qﬁmﬁs{m?zﬁwm@ﬁ
TR <R Ba Rl T S I W
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(e) Determine mode for the following
distribution : .
TR %R o I W 0 ¢
Marks  : 1-5 6-10 11-15 16-20 21-25 26-30
(TH) ’ ) '
No. of Students : 7 - 10 16 32 24 18
(R ) | o

() Write a 'note‘on the advantages of
' sample survey over census method.

et oty gomle dfom i RAPTRS
89S @i (B T

4. (@) Find Q, and D, from the following data : '

| | 6
o SR “9l O, BE D, Sfenet 3

Ces 510 105 1590 2025 2530 30-35 3540

- | il |

Frequency : 10 15 2% 4 ¥ 0 §

" (3%
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(b) Define coefficient of variation. What are
the special uses of this measure ? 4

bR BN I ol | % cevE "o

g & & B
5 (a () State the inultiplication law of
_ probability. :
- eiReR wdr JEe! ot

(i) The probability that a person
travels by plane is -é- and that he
travels by tram is -32— Find the
probability of his travelling by
plane or train. Also-find the
probability of not travelling either

by plane or train.
- - 2+3+1=6
<R ST (AT Tl T RS §

o (REE TN 991 Tk £ T,

(98 (2 AT (HRER T F Rt

Shredl| oite (2 W2 (FIAE

TI9 sikel Sferear |
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(b) Define the 'followin‘g terms with one
i example - 2+2= 4

95t @m@ma ©eq A0 @ fol ¢
(). . Mutually exclusive events
TR ARG oAl
(i) Equally‘ likely events
I SR Jont

6. (@) Write the definition of Spearman’s rank
- coefficient.

_Find the rank correlatlon coefficient for .

the followmg data of marks obtained
by 10 students in Mathematics and
' Statistics. 2+5=7

PieReR @I w=TEm wmqaﬁ’ml
10 oW BeR 2iffe =% AR Reeme ot

.WWWWI@%W@%@_

ot =1

Marks in Mathematics : 80 38 95 30 74 84 91 60 66 44
(4o otk )

.MarksinStaﬁSﬁcs . 85 50 92 58 70 65 88 56 52 46
(R R (ol 7o)
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()

- (b)

Interpret the values of the correlation

coefficient (r). 3

T QN (r) I R Yt 90| '
r=0, r=+1, r=-1

Given below the bivariate data : 6
wote 261 ’wﬁm iR

X : 2 _4_5‘6-'8 11
Y"181210875

(i) Fita regressmn line of Yon X and
estimate. y when X= 5-8.

X69RS Y SRR (R e <1 O
X =58 T yI A S
(i) Fit a regression line of X on Yand
estimate X when y=95.
yq @oe XTI (TR R 3
y=95 m‘xwwmw

Explam the concept of Type I error and
Type 11 error associated with Testing of

Statlstlcal hypothesis. . 4

S{faIg Wmmaﬂw@@—awm |

&0 i ol oeiN @ioe SSRel 15! JR
| '
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Group (¢f5)

_8. - .

o

Write down -the mathematical form of
the normal distribution.

What are the properties 6f normal
distribution ? : 2+5=7
eI TG NS st Bt |

I I e & R

A random variable X follows Poisson
law such that P(X=k)=P(X=k+1).
Find mean and variance. 3
@bl T o7 X @ AT A PR FE
TS P(X=k) =P(X=k+1) TF, G AH
4999 Bfeet |

The "follo'wing table gives the index

numbers for different groups of items
with their respective weights for the
year 2005 (base year = 2000).

e ifereIe 2005 51 AW (e 2000
51) (R T ANNF (S5 T S SIFTZ

- Tt =

‘Weight (® (‘H) Group indices (C153 i)

Food (1)

60 410

Clothing (c5® 7R®®) | 5 450

Fuel (3)

7 ' 300

House Rent (W ©i©) 10 370

Others (S])

18 280
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10.

Year
(%)

Sales :

()

()

(@

(b)

36
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1

Calculate the cost of living Index

number and 1nterpret the result.
4+1=5

@WWW&W@%@WWW
Slesi gt 1|

Mention any five ‘prOpertieS of binomial
distribution. | 5
st 3% R #fivbr o St

What do you mean by “time series”?
Explain various .components of time
series. 6

wmﬁ”qﬁmﬁswvmmﬁﬁﬁ

| @ﬂ\WW 91

From the following data find the trend
values by 5 yearly moving average
method : ~ 4

-ww&u«msa@mwmmﬁ@e@—m

mﬁcﬁw'>

: 1990 1991 1992 1993 1994 1995 1996 1997 1998°

B3 M oM % M U N

Corgtd.



11. ‘(@ (i) Explain null -hypothesis and

alternative hypothesis.
e o9 Wiz R o gt 401

(i) A random sample of size 5 is

drawn without replacement from
a finite population consisting of
41 wunits. If the population

standard deviation is 625, what -

is the standard error of sample
mean ? ,
4+2=6
Il @G5 I TR oI Sefegom
simfors 551 e efow Riea w1
T I TARER dEfds Reem 6-25
=, (OrS 2Afon+ Mg N S Sfereat |

(b) Write short notes on any two of the

following : 2+2=4
&) gl §IT c“rm ot
(i) Sampling error
fSba @b |
(i) Non-sampling error |

HeforT S

~ (iii) Level of significance

Aol BT

4 (Sem-3/CBCS) BST/ORBHG 1/2/6 14

. OPTION-B
Paper : COM-HG-3026
(Operatzons Research in Business)

1. Answer the following as d1rected : .
- 1x10=10 -

were fRaiiee ot Se fual ¢

(a) What is critical path ?
o o2 M [e

"(b) Define inventory control.

o S ke fa |

(c) What is float of an activity ?
esiel e W Be

(d) Define extreme point.
v 3. wicesl |

(e) Linear programming problem involving ,-
' three or more decision variables is
(Fill in the blank)

WWWFWWWW@W
| ﬂwvﬂ@é@m__ﬁﬁf%m@l
(0T 312 29 3.

() What is optimum solution ?

e ANg W e
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(9)

(h)
. wftafor T SRAN R

@)

0

Define set up cost.

[ (H Sog A 7@ |

‘Economic order quantity is.

() to determine an "optimum order
quantity

B e T AR

(i) to minimize total inventory cost

6 e A IR
(iii) a lot size problem
@S SR T
(iv) All of the above
| ot SRR
' (Choose the correct onej
(o7 @@azb‘r o )

" What is ABC analysis ?

ABC fRagd i &2
Define activity.

it st |
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2. Answer the following in short :

. 2x5=10

weTe AT 53 e o ¢

(@)

(b)

(c)

(@)

(e)

3. Answer any four questions :

Define feasible solution.

ﬂ@awwmﬁml

Write the d1fference between PERT and
CPM.

PERT ®i¥ CPM ¥ Wi5re 9{1&(@7 ﬁ‘em
Define EOQ.
Gt TR AR e fad |

What are the cbmponents of inventory
control ?

WW@W%%?

Define holding cost.
izl 7 e

5x4=20 .

freic s1fHo e Tel fordt ¢

(@)

(b)

Write the nature and charactenstlcs of
Operation Research

AN RN PSPy |
Write the procedure of graphical method.

R smfes afda ol
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©

@)

(e)

Solve graphlcally the linear programme
problem (LPP) : '

ART TE YA TR ooy wEEe
AN K 3

Maximize Z =3x; +2x,

subject to (5% ANATE)

=2x+X%y = 1
x < 2
xq+xy, <3
X, X9 2 0

Write the concept of slack variable.

R cofReRer aiFelf ferit |
Write the difference between ABC and

* VED analysis.

ABC W% VED Reaize =ity frary

Explain the basic steps in PERT/CPM
techniques.

PERT/CPM G AT T | |

Answer any four questions : 10x4=40
’?WW 511361 2pix Teg forall ¢
@ () ~ What are the economic parameters

in 1nventory ?

TSTRT ST TRDER
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(b)

(c)

(i) Describe the basic characteristic

of an inventory system.

@maﬁmmmm
= 0

Solve by sifnplex method :

s smfeT A 3 2

Z =X +2X2 +3x3
subject to (56 ANATF) '
10

S
0

X1 +2xy +3x3
X + X2
Xy, Xg, X3

vV OIA A

Explain the terms in the context of PP

| Wﬁaﬁ\mﬁﬂmwﬁaﬁwo -

(i) Objective function
SREEC FIRGA
(i) Ndn—negative constraints -

-Gt et
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(d)- (i) Write about the concepts of

1nventory control.

Qﬂtﬁ@ﬁﬂzﬂamﬁmﬁaﬁﬂmml

() A firm is considering replacement

of a machine whose cost price is
- Rs.17,500 and the scrap value is
.Rs.500. The maintenance costs (in
.Rs.) are found from experience to

be as follows : .

<5t PG GB1 TF SN 9T A Reavat
3R Wz IR I FT 17,500 T @
CHATS (R 500 53l | IHANEHA T
. SfeweR #[ T Zpitet (il 7 3

Yer @) © i1 2 3 4 5 6§ 7 8
Maintenance cost (Rs,): 200 300 3,500 1,200 1800 2,400 3,300 4,500
R T (7)) |

When should th'e machine be
replaced ? |

mﬁmﬁw%ﬁ?
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(e) A project has the followmg t1me
schedule :

R SR - :
Activity Time ~ Activity Time

12 4 56 4
1-3 1 57 8
2-4 1 68 1
34 1 78 2
35 6 810 5
4-9 5 9-10 7

(i) Draw the arrow -diagram.
16 Ba it

(i) Critical path and its duration.
ST % S 2R ANT |

(i) Total float for each activity. -
ofSU5r PrFEIoR AT To el |
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() A company has to purchase four items B (g) ~ Write notes on :
A, B, C and D for the next year. The | COret fenat 8 ,
projected demand and unit price o (i) .Phases of project management

(in Rs.) are as follows : . o AR AR
aﬁmﬁmﬂ«-’iwmmﬁmmﬁ ' | . (i LPP

A, B, C Wi D ¥ IR7 @ifia | acsfe - | Rz

SiftM Wi @3 oy () FEkiRe w1 ¢ 1

~ Item  Demand Unit Price (Rs.)
i LESdE TF T (G)
A 60,000 3
B 40,000 2
C . 1,200 24
D . 5,000 | 4

If the company want to restﬁct the total
number of orders to 40 for all the four
items, how fnany orders should be
placed for each item.

zﬁ@wﬁmsﬁ\eﬁwﬁ@mms@sm
WY 40 T3 AN FRA Roica 2wt wizd@
AR R wr6w 3 =it |
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